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import sys
sys.path.append("statlib")
from xtest import Kolmogorov_Smirnov_test

Kolmogorov_Smirnov_test(obsl, obs2)
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obs1 (1, 2, 1, 3, 2, 3, 3, 2, 7, 11, 10, 9, 13,
13, 22, 17, 23, 20, 17, 14, 13, 5, 2, 1, 1, 1]

obs2 = [0, 1, 2, 2, 4, 5, 6, 8, 10, 7, 16, 17, 17,



13, 19, 13, 18, 160, 4, 6, 6, 5, 1, 3, 0, 0]
import sys
sys.path.append("statlib")

from xtest import Kolmogorov_Smirnov_test

a = Kolmogorov_Smirnov_test(obsl, obs2)

Two-sample Kolmogorov Smirnov test
D = 0.18922, chisq = 14.597, df = 2, p value = 0.00135



